

دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

مناقصة رقم (MEHE-GSD/KFW/2019/55) شراء وتوريد ادوات صحية وتدفئة مركزية لصالح وزارة التربية والتعليم العالي/KFW

MEHE-GSD/KFW/2019/55	رقم المناقصة
الاقل تكلفة والمستجيب جوهربا	سبب الاحالة

البنود المحالة على شركة لابتك

NO	ltem	Specifications	Unit	Qty.	Unit price	Total Prices	اسم الموديل
	l Kein	openions :	0	٠.,.	Euro	Euro	السار سوسين
26	Self-Priming electric filling and testing pump, ½" Connection, 0-40 bar	TECHNICAL DATA: 1. Testing and pressure range:0 - 40 bar, with 1bar steps with Glycerin pressure gauge. 2. Flow Rate: 5.5l/min. 3. Connection: R ½". 4. Mains voltage: 200-240V/50HZ. 5. Performance: 1.3 kw. 6. Container: ABS-plastic. 7. Valve for pressure adjustment.	NO.	4	1094	4376	RPPRO111
118	Flue gas analyzer	An entry level analyzer that measures flue gas, O2, CO and ambient temperature on domestic boilers and heating systems. Complete with printer. Integrated, kink resistant hose to eliminate leaks Auto-zeroing of gas sensor in only 30 seconds after switching on Up to 10 hours running time, with charging via USB Integrated magnets on rear for easily fixing the unit to boilers Condensate trap can be quickly and simply emptied Two-line display and clear menu structure on backlit screen Compatible with optional wireless printer for professional onsite reports	NO.	3	1293	3879	TESTO310

رئيس لجنة العطاءات المركزية

ابراهيم شهاب/وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال انعامة والإسكان

فؤاد ابو الرب/وزارة المالية والتخطيط

تعرض نتيجة الإحالة لمدة خمس أيام عمل من كيد 2019/08 الى 19/08/2019

المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHE-GSD/KFW/2	رقم المناقصة: <u>019/55</u>
121	Logger with LCD	Humidity Temperature Data logger records up to 16,000 Humidity and 16,000 temperature readings with a user programmable sample rate. USB interface for easy setup and data download. Dew Point indication via the included Windowscompatible software. Selectable data sampling rates of 2s, 5s, 10s, 30s, 1 m, 5 m, 1 0m, 30 m, 1 hour, 2 hour, 3 hour, 6 hour, 12 hour and 24 hour. User-programmable alarm thresholds for RH and Temperature. LCD displays current temperature and humidity readings plus Min/Max and Alarm status. Long battery life. Place or mount the data logger in monitoring location (storage bin, truck, cargo hold, freezer, temperature-controlled room, etc.). Data logger records temperature and humidity at sample rate set by user. Connect the data logger to your PC via the USB interface to retrieve readings. Data logger displays the current Humidity and Temperature plus Min/Max and alarm status so it can viewed anytime during the recording process. Complete with battery, mounting bracket and software• Up to 16,000 readings for RH/temperature and user-programmable sample rate• USB interface for easy setup and data download• Selectable data sampling rate: 1 second to 24 hours• User-programmable alarm thresholds for RH and temperature• LCD displays current readings, Min/Max and alarm status	NO.	6	220	1320	METERS
	ضافة	اجمالي الاحالة على شركة لابتك باليورو غير شامل ضريبة القيمة الم				9575	

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>6ط/2019/08 الى 19/08/</u>2019 عضو (۲

فؤاد ابو الرب/وزارة المالية والتخطيط أ

حمد الاحمد موسسة العواصفات والمقابيس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة:MEHE-GSD/KFW/2019/55

البنود المحالة على شركة تكنوبال

		· · · · · · · · · · · · · · · · · · ·	•		T		البنود المحالة على شركة تد
NO	ltem	Cusifications		O+1/	Unit price	Total Prices	اسم الموديل
NO		Specifications	Unit	Qty.	Euro	Euro	التعم العودين
17	Water chilled ceiling concealed duct type fan coil unit	Fan coil, air volume=250-1300CFM, 4 row coil, with heater element, 4 kw cooling capacity, 4 kw heating capacity, 230 v voltage supply, 80 w power input power input horizontal condensate collection tray Condensate draining in PVC Frontal air intake grille Fresh air intake Frontal air intake kit Painted rear closing panel Air washable filter honeycomb polypropylene fabric 3 way valves ON/OFF for 4 pipe system ON/OFF control, 3 speed Thermostat with control fan speed	NO.	2	970	1940	حسب الصورة المقدمة
21	Hot water Heat Pump	Tank Capacity: 300 L Capacity System capacity: 300 L hourly Power supply: single phase 230 v Vertical isolated storage tank 300 liter capacity Inlet outlet, Drain and condensate Size: 3/4" With Relief Valve and Over Pressure Safety refrigerant is Ozone friendly and available in the labor market hot water Temperature Range: 40-60 C Error Indication for the system Electric Heater: 3500 W	NO.	2	200	400	DAISHIBA

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/<u>لا</u> 2019/08/ م المراهيم شهاب او زارقه آلاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد موسسة المواصفات والمقاييس عضو

عضو



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

						- HILLING	رقم المناقصة: GSU/KFVV/2019/35-
22	Hand Crossbow Bender (copper pipe bender)	Capable of bending 3/8in, 1/2in, 5/8in, 3/4in, 7/8in, 1 tubing O.D Enables the plumber & HVAC/R technician to create precision bends up to 90 Degree of soft copper and aluminum tubing Low friction mandrels and rotating side support blacks provide precision bending in restricted spaces Provides minimum distortion bends for optimal flow Compact Storage and carry case.	NO.	6	250	1500	INFINI TOOLS
25	Threading electrical machine	The machine has to be Portable, with for legs, Self-contained adjustable flow oil system through-the-head, with integral oil reservoir, Threading Pipe diameters from 1/2" to 2" threading operation is controlled by electrical motor driven by foot switch, Rating motor power:600 W -230 V 50 Hz, Rotation: R/L Die Head: ½"-2", BSPT, NV-auto BSPT. Separate Die threads automatically when finishing threading. Threading speed 40 rpm. Supply voltage 230 v50 Hz Wight: not more than 46 kg and not less than 44kg the following should be included: • 1 automatic 1/2" to 2" BSPT and NPT threading head. • 2 set of right-hand BSPT dies 1/2" - 3/4". • 2 set of right-hand BSPT dies 1" - 2". • 2 set of carbon brushes.	NO.	4	1800	7200	REX
29	Socket pipe welding machine, Socket welding unit 20-63mm, (PPR Pipe Welding machine)	Socket welding unit for use with heating spigots and heating sockets For welding PPR sockets, pipes and fittings up to Ø 20 - 63 mm Rated Power 800 W at 230 V 50 Hz Temperature of heating sockets is electronically controlled three holes for mounting heating spigots heating sockets welding pipes size Ø 20, 25, 32, 40, 50, 63 mm includes: floor stand, all wiring and connections, operation manual	NO.	4	214	856	PRESCOT

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/19 الى 2019/08/2019

ابراهيم شهاب/وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد أمؤسسا المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEH	رقم المناقصة: E-GSD/KFW/2019/55
30	Plastic sanitary pipe welding machine (HDPE, PP, PB,PVDF pipes)	Plastic sanitary pipe welding machine from Ø 40 - 160 mm. For welding of PP, PB and PVDF pipes and fitting 800Wheating plate Trimmer unit heating plate temperature electronically controlled includes: electric trimmer ,electrically adjustable heating element ,removable, Basic clamping set right and left Ø160 mm ,pipe support Ø160 mm , reducer clamp and support set for : Ø 40,50,63,75,90,110,125,160- mm installation tools, mobile work and transport frame	NO.	2	2143	4286	RITMO 40-160
31	Flushing and cleaning pipe machine	Pipe connection: R 1" GK-Coupling Max. pipe diameter: DN 50/2" Max. flow rate: 5 m3 /h Max. water pressure: 7 bar Max. water temperature: 30 °C Oil deposition rate: 99.9% Particle retention rate: 0.3 µm compressor Max. operating pressure: 8 bar Engine power: 1.5 kW Mains connection: 230 V - 50 Hz	NO.	3	1381	4143	ROTHENBERGER
32	Manual Ratchet Pipe Threader Kit	Heavy duty (1/2 – 3/4 – 1 - 1 1/4) inch Designed to thread pipe and as conduit using individual die heads Versatile and easy-to-use threader set Includes carrying case for easy storage and transport	NO.	11	226	2486	TOLSEN
33	Cordless Hammer drill/driver	twin kit including Drill Driver and the Impact Driver. This kit comes complete with 2x Li-ion 10.8v 2.0Ah slide batteries, DC10WC 10.8v slide battery	NO.	4	226	904	Imec

رئيس لجنة العطاءات المركزبة

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>60/2019</u> الى2019/08/ الى2019/08/ ابراهيم شهاب وزارة الاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد موسطهة المواصفات والمقاييس

نبو له (آ



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

					MEH	لصة:E-GSD <u>/KFW/2019/55</u>
	charger and a connector case.		.			
	Drill Driver]
	FEATURES	Ì				
	Slide type Li-ion battery				,	
	Electric brake					
	• 2 mechanical gears					
ļ	Variable speed control trigger			,		
	Keyless Chuck			, ,		
	Equipped with Battery protection circuit: designed to protect the battery	ŀ		ľ		1
1	from damages due to over discharge, high temperature or overload current					
•	Forward and reverse trigger	,		,		
	• LED job light					,
•	Ergonomic soft grip					
	SPECIFICATION					
	Battery Type: 10.8v Slide Li-lon					
	Voltage: 10.8v					
	Chuck Capacity: 0.8 – 10 mm					
	Max. in steel: 10 mm					
	Max. in wood: 21 mm					
	 Torque Settings; S/H Nm: 14/30 		ŀ			
	Noise sound pressure: 70 dB(A)					
	Noise K factor: 3 dB(A)		1		!	
	 No Load Speed (Hi): 0 - 1,700 rpm 					
	 No Load Speed (Lo): 0 - 450 rpm 				}	
	Torque Settings: 18+ drill					
	Vibration: Drilling: 2.5 m/sec²		1.			
	Vibration K factor: 1.5 m/sec ²		'		•	
	Net weight: 1.3 kg			1		
	Impact Driver FEATURES:		1 .			
	Slide type Li-ion battery]				
	Electric brake	İ			'	
,	Variable speed control trigger				111	
	Equipped with Battery protection circuit: designed to protect the battery			(/)	X//	. 11.
· ^	from damages due to overdischarge, high temperature or overload current		1	1 3	1	4/16

رئيس لُجنة العطّاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/</u>2019 الى <u>9/</u>80/2019

عضو لوگريئ لوگريئ أحمد الاحمد /مؤسسة العواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

	Forward and reverse trigger LED job light						
	 LED job light 						
	 Ergonomic soft grip 						
	SPECIFICATIONS:						
	 Voltage: 10.8v 	'					
	 Max Torque (Nm): 110 						
I I	Brake Type: Electric		1			•	
	 LED Job Light: Yes / Pre-glow & After-glow 						
	Battery Capacity Indicator: No						
	Battery Compatibility: 10.8v Lithium-Ion (CXT Slide)				· ·		
	Rotation: Forward & Reverse						
	 Variable Speed Control Trigger: Yes 			•			
	 No Load Speed (RPM): 0-2600 		İ				
	Machine Screw Capacity: M4-M8						
	Standard Bolt Capacity: M5-M12						
	High Tensile Bolt Capacity: M5-M10						
	Coarse Thread Length Capacity (mm): 22-90						
	Max. Impacts Per Minute (ipm): 0-3500						
	• Driving Shank: 1/4" Hex		i				
	Overall Length (mm): 153						
	Net Weight (Kg with 1.5/2Ah Battery): 1.0				1		
		1					
	Net Weight (Kg with 3/4/5Ah Battery): 1.2						
	Brushless Motor: No MITCH - Our Phillips Bids				1		
	WITH : 2x Philips Bits				1		

رئيس لجنة العطّاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل

من<u>ط</u>ط/2019/08 الى 12/89/08/2019



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEH	رقم المناقصة: E-GSD/KFW/2019/55
34	Electrical rotary hammer drill	Rated power input: 800 watt Voltage: 240 volt Max impact energy: 2.7 J Rated speed: 0-900 rpm Tool holder: SDS-plus. Drilling Range for GBH 2-26DRE Rotary Hammer with SDS-plus: Drilling diameter in concrete with hammer drill bits: 4 - 26 mm. Optimum range of applications in concrete with hammer drill bits: 8 -16 mm. Max drilling diameter in masonry with core cutters: 68 mm. Max drilling diameter in steel: 13 mm. Max drilling diameter in wood: 30 mm. Functions of the Rotary Hammer with SDS-plus: Infinitely variable speed control. Forward/reverse operation. Electronic. Overload clutch. With Carrying Case With the following: Quantity Bulldog SDS-plus Chisels/Carbide Masonry Trade Rotary Hammer Bit Set. • SDS drill bits: (5.5 x 110),(6 x 110),(6 x 160),(7 x 160),(8 x 160), (9 x 160mm), (10 x 160mm), (11 x 160 mm), (12 x 160mm), (14 x 160mm). • Two flat chisels: 20 x 250mm+ 40 x 250mm • Bit plastic box for compact and safe storage	NO.	8	97	776	BENYU SDS GBH2-26
35	Demolition hammer	1. Unmatched Power to Weight Ratio 5kg Impact energy 2. With Active Vibration Control - Vibration reduction in the hammer mechanism 3. with grip area provides maximum user comfort for extended periods of work 4. with Constant Response Circuitry- Maintains speed under load and overload protection 5. With Articulating Auxiliary Handle - Provides maximum comfort and control by maintaining the best working posture possible. 6. With Vario-Lock Positioning - Rotates and locks chisel into 12 different positions 7. With Auto-Max variable speed Dial - Ensures maximum speed every time the tool is turned on 8. With Service Minder light — indicates when preventative maintenance is required 9. With Power light — ensures operator that power feed is live 10. With Patented cord turret - Reduces cord wear 11. With 360° Auxiliary Side Handle 12. With Carrying Case 13. With tow Earmuffs 14. With tow Safety Glasses 15. With SDS Max Type Shank 280mm Bull Point. 16. With SDS Max Type Shank 25 x 300mm (Flat Chisel) 17. With SDS Max Type Shank 50 x 350mm (Flat Chisel)	NO.	4	160	640	BENYU

عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

رئيس لجنة العطاءات المركزبة

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/<u>06/</u>2019 الى <u>19/</u>8/2019 براهيم شهاب/وزارة الإفتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

مد الاحمد /مؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHI	قم المناقصة:GSD/KFW/2019/55
38	Gas leak detector	 Sensor: Solid state conductivity (semiconductor) Sensitivity: as low as 50 ppm methane in air Probe length: 18" obedient gooseneck Warm up time: Approx 10 seconds Response time: less than 1 second Duty cycle: Continuous Operating temperature: 32° to 122° F Operating humidity: 10 to 90% RH (non condensing) Power: (1) 9v alkaline battery Dimensions: 8" x 4" x 1.5" (add approx 1" to height & width to account for coiled cable) Detect most gases especially (LPG, PNG) Supplied with: Sensor cap with lighted tip Instruction manual Battery Rubber boot protects instrument (Ruggedized) 	NO.	7	190	1330	WJL-6000
40	Standard hack saw	10 in. standard hacksaw blade Frame made with heavy-duty steel for strength Butcher-style handle made with high-impact plastic Handle is crafted to have finger grips for comfort and control Accepts both 10 in. and 12 in. hacksaw blades High quality 1/8-inch to 4-inch Pipe Vise Yoke and base of strong special malleable iron Highest quality iron-grip tool steel jaws	NO.	30	4	120	MATCO
43	Combination pipe and bench vise	Bench-mount vise with 6.5" nominal jaw width and 0.125"- to 2.5"-diameter pipe capacity provides clamping action for light-duty applications 360-degree swivel base adjusts the direction of the jaws for proper placement and locks in place Vise has a cast iron body with steel U-channel bar for durability and has a flat portion that acts as an anvil and additional work surface Replaceable top jaws and permanent pipe jaws are grooved for enhanced grip Rubber washers prevent the handle from unwanted sliding	NO.	16	53	848	IMEC

تعرض نتيجة الإحالة لمدة خمس أيام عمل منطه /2019/08 الى 19/08/2019



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

		·····					
			÷			MEH	رقم المناقصة: E-GSD/KFW/2019/55
44	Stationary drill press	 Power: 600W Voltage: 230V~50Hz Adjustable by 2x450 and in height Idle speed: 580/ 850/ 1220/ 1650/ 2620 rpm Tool fixture: 13mm chuck Dimensions (HxWxD): 595x200x310mm Dimensions of the plate: 160x160mm 	NO.	4	119	476	INGCO
49	Chain block (lever hoist)	1500 pound load capacity 10 feet max lifting height 11 " lever length	NO.	4	80	320	حسب الصورة المقدمة
51	Spark lighter	Stainless steel type Sparks - 20,000 Shots	NO.	5	10	50	IMEC
56	control devices	Protect the heater regulator , thermostat .	NO.	10	10	100	R585C
57	double head grinder	§ Particularly powerful machine for high requirements § Low-noise and low-vibration, maintenance-free induction motor § Motor for single phase alternating current § Robust die-cast aluminum protective covers § Protective cover bayonet lock for quick and simple wheel change § Dust-protected emergency stop switch § Restart protection: prevents unintentional start-up after power supply interruption § Work piece support adjustable without tools § Large spark protection guards for eye protection § Vibration-dampening rubber feet for safe support No-load speed: 2980 rpm Rated input power: 600 W Output power: 420 W 220 -230 Volt Or close to these specifications	NO.	8	118	944	INGECO

عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/<u>05</u> الى 2019/08/<u>05</u> ابراهيم شهاب/وزارة الاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

وسنة العواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

* Wheel size (dIm 355mm) * Cuts a wide variety of materials including ferrous and non-ferrous metals * Carbide tipped blade allows the depth of cut to remain constant throughout blade life * Cuts 4-times faster than chop saws and 8-times faster than portable band saws in 2 in. x 2 in. x 14 in. x 14 in. angle iron * 14 in. 70-tooth carbide tipped blade delivers a lower cost-per-cut compared to cutting with abrasive wheels * Specially designed carbide teeth deliver fast, precise, virtually burn-free cuts, * Specially designed carbide teeth delivers at lower cost-per-cut compared to cutting with abrasive wheels * Specially designed carbide teeth delivers at lower cost-per-cut compared to cutting with abrasive wheels * Specially designed carbide teeth delivers at lower cost-per-cut compared to cut, and the cost of						MEH	رقم المناقصة:E-GSD/KFW/2019/55
	5	 Cuts a wide variety of materials including ferrous and non-ferrous metals Carbide tipped blade allows the depth of cut to remain constant throughout blade life Cuts 4-times faster than chop saws and 8-times faster than portable band saws in 2 in. x 2 in. x 1/4 in. angle iron 14 in. 70-tooth carbide tipped blade delivers a lower cost-per-cut compared to cutting with abrasive wheels Specially designed carbide teeth deliver fast, precise, virtually burr-free cuts, reducing the need for preparation grinding Largest capacity in its class with even more capacity than a deep-cut portable band saw (5-3/16 in. round & 4-1/2 in. x 6-1/2 in. rectangular), allowing user to cut a wider variety of material sizes for more applications Ergonomically designed horizontal handle for user comfort and less fatigue 15 Amp, 4 HP motor provides more overload capacity for increased performance and durability Patented Quick-Fence tool-free, 45-degree adjustable fence allows for fast and accurate angle cuts without using a wrench Quick-Lock vise allows for fast clamping on different material sizes for increased productivity Extra-wide solid steel base provides increased stability when cutting longer material; the 4 pre-drilled holes in the base allow easy bolt down to any work bench; the solid steel base also allows user to weld jigs or stops directly to the base Durable metal top handle for easy portability Heavy-duty lock down pin allows the head of the saw to be locked in the carrying position without the use of a chain On-board wheel change wrench allows for convenient storage and reduces the risk of lost wrenches Spindle lock allows user to make wheel changes quickly and easily for less downtime Includes: 15 Amp 14 in. (355 mm) Multi-Cutter Saw, 14 in. Carbide Tipped Blade, Wrench and Vertical Clamp 90-day money back guarante; 1-year free service contract; 3-year limited warranty<th>NO.</th><th>4</th><th>138</th><th>552</th><th>IMEC 2414</th>	NO.	4	138	552	IMEC 2414

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/ 2019 الى 2019/08/

ابراهيم شهاب ورارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب/ورزارة المالية والتخطيط

عضو // أحمد الاحمد مؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط ديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

						<u></u>	E-030/KFW/2019/33:422000 (2)
59	Hydraulic steel pipe bender	Heavy duty, compact hydraulic bender with 15-tonne pressure ram and automatic piston return. All bender sets are fully equipped and complete with heavy-duty carrying case. For use with 3/8", 1/2", 3/4", 1" 1 1/4", 1 1/2" and 2" diameter steel pipes. Supplied in a heavy duty steel carrying case. • 15 tonne pressure ram • Can bend from 3/8" - 2" • Intervals for bending are - 3/8", 1/2", 3/4", 1", 1.25", 1.5", 2"	NO.	3	328	984	حسب الصورة المقدمة
61	O2 cylinder	outside diameter: 219 (mm) volume: 40 (L) weight: 50 (kg) height:1450mm or 1600 mm Working pressure: 15 -20 (MPA): 37Mn seamless gas cylinder applicable scope: industrial, medical, commercial Filling medium: permanent gas, high pressure liquefied gas production method: seamless steel cylinders Wall thickness: 5.7mm; Nominal wall thickness:6.3mm pressure reducers regulator (pressure 0-20bar.)	NO.	6	314	1884	حسب الصورة المقدمة
63	LPG cylinder	The cylinder is 12kg full with gas with pressure regulator with pressure gage. with Stainless Steel Gas Cylinder Trolley. Gas hose 3m long +2 clamps.	NO.	6	58	348	حسب الصورة المقدمة
64	Co2 cylinder	39 kg	NO.	2	333	666	حسب الصورة المقدمة
66	Co2 welder machine	350.A include wire feeder	NO.	3	1286	3858	jasic

رئيس لجنة العطاءات المركزبة

، عساف / وزارة. الاشغال العامة والإسكان

تعرض نتيجة الإحالة لمدة خمس أيام عمل من2019/08/<u>19</u> الى2019/08/<u>06</u> ابراهيم شهاب/وزارة الاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد الاحمد موسسة المواصفات والمقاييس

عضو کرکر کرکر



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

lanual Pressure est Pump manual pipe vater pressure ydro test pump)	 very low effort required to operate Pressure maintained automatically, no valve to be closed manually Filter on inlet and outlet for better reliability Two stage lever action for fast filling of system and pressurization Plastic container with capacity of 13.5 liters Especially for use in heating, compressed air, refrigeration systems, oil installations, sprinkler systems and other small-bore pipe installations Compatible fluids include water, oils, ethylene glycol Can be connected to water supply for rapid filling Connection type: ½" BSP Testing Capacity: 725 PSI Net Weight: 6.5kg 	NO.	4	158	632	RP 50
 Pressure maintained automatically, no valve to be closed manually Filter on inlet and outlet for better reliability Two stage lever action for fast filling of system and pressurization Plastic container with capacity of 13.5 liters Especially for use in heating, compressed air, refrigeration systems, oil installations, sprinkler systems and other small-bore pipe installations Compatible fluids include water, oils, ethylene glycol Can be connected to water supply for rapid filling Connection type: ½" BSP Testing Capacity: 725 PSI 						
aint marker pray		ŅO.	10	1.9	19	RUST-OLEUM
leaner spray	 The bottle contains 500 mL of Spray N' Wipe Glass Cleaner. It's suitable on most glass surfaces including windows, doors, mirrors and showers. It comes in a convenient trigger spray bottle which is refillable. The formula is quick-drying and streak-free. 	NO.	12	1.9	22.8	AJAX
nti- rust spray	 50% aliphatic hydrocarbons < 25 % petroleum base oil < 10 % inert ingredients 450 ml size 	NO.	40	2	80	ETIHAD
VC welding rod	Color: translucent Anti-aging, non-toxic, and stable Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc Length: about 190mm Diameter: about 7mm packet	NO.	4	15	60 . M .	حسب الصورة المقدمة
le n	eaner spray ti- rust spray	• The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. • 50% aliphatic hydrocarbons • < 25 % petroleum base oil • < 10 % inert ingredients 450 ml size • Color: translucent • Anti-aging, non-toxic, and stable • Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc • Length: about 190mm • Diameter: about 7mm	• The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. • 50% aliphatic hydrocarbons • < 25 % petroleum base oil • < 10 % inert ingredients 450 ml size • Color: translucent • Anti-aging, non-toxic, and stable • Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc • Length: about 190mm • Diameter: about 7mm	*The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. **NO.** **It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. **NO.** **NO.** **O.** **The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. **NO.** **O.** **Ado **The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. **NO.** **Ado **The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. **NO.** **Ado **The bottle contains 500 mL of Spray N' Wipe Glass Cleaner • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • 50% aliphatic hydrocarbons • < 25 % petroleum base oil • < 10 % inert ingredients 450 ml size • Color: translucent • Anti-aging, non-toxic, and stable • Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc • Length: about 190mm • Diameter: about 7mm	**The bottle contains 500 mL of Spray N' Wipe Glass Cleaner * It's suitable on most glass surfaces including windows, doors, mirrors and showers. * It comes in a convenient trigger spray bottle which is refillable. * The formula is quick-drying and streak-free. **So% aliphatic hydrocarbons** * 25 % petroleum base oil * 10 % inert ingredients 450 ml size **Color: translucent** * Anti-aging, non-toxic, and stable * Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc * Length: about 190mm **Diameter: about 7mm **Diameter: about 7mm **NO. 12 **The bottle contains 500 mL of Spray N' Wipe Glass Cleaner * It's suitable on most glass cleaner * It's suitable on most glass surfaces including windows, doors, mirrors and showers. **NO. 12 **It's suitable on most glass surfaces including windows, doors, mirrors and showers. **NO. 40 **Diameter: about 7mm **NO. 40 **Diameter: about 7mm **NO. 41 **Diameter: about 7mm **NO. 41 **Diameter: about 7mm	• The bottle contains 500 mL of Spray N' Wipe Glass Cleaner. • It's suitable on most glass surfaces including windows, doors, mirrors and showers. • It comes in a convenient trigger spray bottle which is refillable. • The formula is quick-drying and streak-free. • 50% aliphatic hydrocarbons • < 25 % petroleum base oil • < 10 % inert ingredients 450 ml size • Color: translucent • Anti-aging, non-toxic, and stable • Excellent adhesive to many materials such as glass, plastic, metal, ceramic, wood, etc • Length: about 190mm • Diameter: about 7mm

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019 الى 19/08/2019</u> من

فؤاد ابو الرب /وزارة المالية والتخطيط ابراهيم شهاب /وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

مؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

•						MEH	رقم المناقصة:E-GSD/KFW/2019/55
74	Arc/ Co2 welding clothes	complete set includes: Protective Clothing Welding Jacket Welding Safety Gloves Sleeves leather apron Flameproof aprons or jackets made of leather, fire resistant material, or other suitable material should be worn for protection against spatter of molten metal, radiated heat, and sparks	NO.	20	97	1940	حسب الصورة المقدمة
75	Meter tape	Self locking blade High visibility blade Color Double sided printing and dual end hook Dual scale - inch metric blade 5M	NO.	40	2	80	حسب الصورة المقدمة
77	Gloves	Cow split leather on Palm and index forefinger for wear-resistance Polyester/cotton striped fabric for breath ability Rubberized cuff is thicker and protects the wrist better	NO.	150	1.8	270	حسب الصورة المقدمة
84	steel angle ruler	• 60 cm length • Stainless Steel Square Ruler • Good solid rule,easy to read • Easy to measure doors, window table and many other applications • Ergonomic design for craftsmen and general handy man, easy use • Quality and safety ruler, an ideal measuring tool for engineers or carpenter	NO.	35	2.8	98	حسب الصورة المقدمة
85	rubber hummer	500 gm wood handle for durability Black rubber head won't mar surfaces Designed for durability, performance and value	NO.	40	2.9	116	حسب الصورة المقدمة

محمد بليع رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من2019/08/19 الى2019/08/ ابراهيم شهاب/وراؤة الاقتصاد عب

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد الاحمد موسسة المواصفات والمقاييس

عصو کرا کورا



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

MEHE-GSD	/KFW	<u>/2019</u>	المناقصة: <u>55/</u>	ŕ

						MEH	رقم المناقصة: E-GSD/KFW/2019/55
87	Long nose pliers	Pliers 150mm / 6in Made of tool steel entirely hardened and tempered cutting edges induction hardened surface finish chrome plated Red & Yellow handles denotes international color for safety Lifetime Guarantee	NO.	28	2.3	64.4	حسب الصورة المقدمة
88	• normal type • Full Body, Hardened Jaws and Cutting Edge are Induction Hardened & Tempered Black Phosphate • Finish Anti-rust Protected Description: 8" Combination Plier		NO.	35	3.4	119	حسب الصورة المقدمة
91	small adjustable blier	Small type	NO.	30	7	210	wokin
92	large adjustable blier	Large type	NO.	20	9	180	wokin
94	flux for gas welding	• 200 g Powder copper gas flux, melting point of about 650 C, can effectively melt copper oxide and cuprous oxide. When welding, liquid slag covers the surface of the weld to prevent metal oxidation.	NO.	14	14.4	201.6	حسب الصورة المقدمة
98	insulation tape	Works at Temperatures up to 80°C 19mm * 33m Flame-Retardant Excellent Insulation High Adhesion Level Resistant to Sun, Water & Oil	NO.	65	4.7	305.5	matco
100	cup brush	deal for fast, heavy duty cleaning of large surfaces Also for removing weld scale, rust burrs and spatter Designed for use on right angle grinders only Max RPM is 8,500 4 inch size	NO.	30	3	90	حسب الصورة المقدمة

لجنة المطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019/08 الى 19/08/2019</u>

ابراهيم شهاب ويزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب وزارة المالية والتخطيط

أحمد الاحمد امؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

						14151	رقم المناقصة: 1E-GSD/KFVV/2019/55
103	flexible duct	HVAC flexible isolated duct an inner layer and an outer layer of reinforced film which encased and wrapped in heavy corrosion-resistant steel wire also supported by a thick blanket of fiberglass insulation Diameter: 8 inch Length: 10 m For use in low- to medium-pressure HVAC applications	NO.	4	24	96	حسب الصورة المقدمة
104	Tool Bag	Included 25 pcs inside 16" Tool Bag Waterproof plastic base Zip top which makes for quick and easy tool access Multiple internal & external pockets Covered front pocket for secure storage of small parts or personal items Separate transparent document storage in lid Adjustable padded shoulder strap gives a soft cushioning when transporting around worksites.	NO.	10	97	970	wokin
105	steel file	 5pcs Steel File Set Length 200mm T12 Steel Flat steel file 1pcs Half round steel file 1pcs, Round steel file 1pcs Triangle steel file 1pcs, Square steel file 1pcs High quality 	NO.	10	1.9	19	max
106	30m wheel extension cable	Number of sockets: 2 Outer insulation material: rubber Number of cores / wires: 3 Core section: 2.5mm2 Cable length: 30 m Max. operating current: 16 A Operating temperature: -40 - 90°C • rubber	NO.	15	48	720	حسب الصورة المقدمة
107	cupper pipe expander	 Long, rigid handles Made of forged aluminum less than 800gr with high strength profiled handles. 	NO.	4	197	788	حسب الصورة المقدمة

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/ا الى 19/08/2019

فؤاد ابو الرب/وزارة المالية والتخطيط ابراهيم شهاب/وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

صفحة 16 من 34



دولة فلسطين مديرية اللوازم العامة

						MEH	رقم المناقصة: E-GSD/KFW/2019/55
		 Quick and easy tool change. Ergonomic polypropylene grease and solvent resistant grips. The expansion heads: Ø 3/8", 1/2", 5/8", 3/4", 7/8". Compact Storage and carry case. High quality 				-	
108	box wrench	 8pcs 1/2" CRV DR. Sockets: 10,11,12,13,14,15,16,17,18, 19,20,21,22,23,24,27,30,32 2pcs 1/2" DR. Extension bar 1pcs 1/2" DR. Sliding T bar 1pcs 1/2" DR. Universal joint 1pcs 1/2" DR. Speeder handle 1pcs 1/2" DR. Quick ratchet handle 	NO.	35	30	1050	حسب الصورة المقدمة
109	locking welding clamp	100% brand new an high quality. This screwdriver tool kit with the hardness of HRC42-45 is made of high quality chrome-vanadium steel, has better intensity and tenacity then common steel. Suitable for processing of riveting, soldering, grinding and more. The pliers has strong grinding clamp force, can fix items firmly, not easily fall off. It's clamp size can be adjusted by the rotatable screw to meet the different thicknesses of parts. Mobilizable clip head can contact objects in different surfaces. Not only a labor-saving pliers, but also can be used as a wrench. Color: Silver Material: Chrome Vanadium Alloy Ateel + 55# steel Product Dimensions: 29*14*2cm Product Weight: 729g Package Dimensions: 35*15*2cm Package Weight: 731g	NO.	27	7.4	199.8	MATCO
110	Spanner set includes (14) spanners	Manufactured from chrome vanadium steel with highly polished mirror finish. Mirror finish prevents oil and dirt from adhering to the spanner making for easier cleaning and preventing rust. Long reach, wall drive. Contents 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18 and 19mm. High quality	NO.	35	23	805	anton

عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان م

تعرض نتيجة الإحالة لمدة خمس أيام عمل

من<u>6 م/2</u>019/08 الى <u>19/</u>08/2019

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد موسسة المواصفات والمقاييس

صفحة 17 من 34



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

						FYICI	رقم المناقصة: IE-GSD/KFW/2019/55
111	Blier 6"	normal type Industrial quality chrome vanadium steel, chemically blacked. Ideal for terminal loupe forming, wire manipulation and shape forming in confined spaces Overall Length: 160 mm Overall Width: 50 mm Size: 160 mm/6 inch	NO.	27	3.3	89.1	حسب الصورة المقدمة
114	Adjustable Wrench	 Size 10 inch Slip-resistant bi-material handle for a comfortable grip Knurl adjusting mechanism for quick and precise adjustment Laser-etched SAE and mm jaw scale for easy size adjustment Slip-resistant bi-material handle for a comfortable grip 	NO.	19	4	76	حسب الصورة المقدمة
115	screw driver (+ Type)	Cushion Grip Phillips 2PT x 100mm Screwdriver 100mm blade length with 2PT Phillips tip Magnetic tip helps to keep screws close to tip Chrome plated blade to help prevent corrosion Soft grip handle for excellent control and comfort Smooth domed end ensures fast spinning action Large diameter handle offers great torque needed for driving wood screws High grade steel bar to reduce the risk of tip breakage	NO.	35	1.6	56	حسب الصورة المقدمة
116	screw driver (- Type)	Cushion Grip Phillips 2PT x 100mm Screwdriver 100mm blade length with 2PT Phillips tip Magnetic tip helps to keep screws close to tip Chrome plated blade to help prevent corrosion Soft grip handle for excellent control and comfort Smooth domed end ensures fast spinning action Large diameter handle offers great torque needed for driving wood screws High grade steel bar to reduce the risk of tip breakage	NO.	35	1.6	56	حسب الصورة المقدمة
47024. اجمالي الاحالة على شركة تكنوبال باليورو غير شامل ضريبة القيمة المضافة					4.2		

رئيس لجنة العلاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>ك / 201</u>9/08/19 الى <u>19/</u>08/2019

ابراهيم شهاب/وزارة الاقتصاد

فؤاد ابو الرب/هزابق المالية والتخطيط

حمد الاحمد /مؤسسه المواصفات والمقاييس عضو

صفحة 18 من 34



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

البنود الجالة على شكة ذكاء

NO	Item	Specifications	Unit	Qty.	Unit price Euro	Total Prices Euro	اسم الموديل
4	Gas boiler for heating only	capacity of 32 KW flue kit supplied with all accessory parts needed for operating the such as flue outlet wind ducts stop gate and extension pipes		4	1050	4200	FEReSY 24
6	Gas burner	• Gas burner capacity from 30kw to 60 kW, including gas train and dedicated to LPG gas, safe to run powered by AC 50Hz 230V SERIES kW Conform to: Gas Directive 90/396/CEE E.M.C. Directive 89/336/CEE L.V. Directive 73/23/CEE Reference standard: EN676 2 5000 10000 Single-stage gas burners TECHNICAL AND FUNCTIONAL CHARACTERISTICS: • Single stage operation (on/off). • Air-gas mixing at blast-pipe. • Ability to obtain optimal combustion values by regulating combustion air and blast-pipe. • Exhaust gas recycling blast-pipe able to 7achieve very low pollutant emissions, particularly with regard to nitrous oxides (NOx) (class II for BTG 15 and class III for BTG 20 according to EN 676 norm). • Maintenance facilitated by the fact that the mixing unit can be removed without having to remove the burner from the boiler. • Manual air flow adjustment. • Possibility to chose gas train with valve tightness control. • Equipped with one 7-pole connector, one flange and one insulating seal for boiler fastening.	NO.	4	980	3920	MIKRO M FER

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>6م/ 20</u>19/08/ الى 1<u>9/ 20</u>19/08/

فؤاد ابو الربي/وزارة المالية والتخطيط ابراهيم شهاب/وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

	,				•	<u>ME</u>	قم المناقصة: HE-GSD/KFW/2019/55
		CONSTRUCTION CHARACTERISTICS: The burner consists of: Combustion air inlet with device to adjust the air flow; automatically closing air gate. Sliding boiler coupling flange to adapt the head protrusion to the various types of boilers. Air pressure switch to ensure the presence of combustion air. Automatic control and command equipment for the burner, compliant with European standard EN298. Flame detection by ionization electrode. T-pole outlet for burner electrical and thermostat connections. Prepared for micro ampere ohm interconnection with ionization cable. Electrical protection rating IP40. with Sound-proof plastic protective cover. Gas train complete with operation and safety valve, pressure switch, pressure regulator and gas filter.					
11	Expansion Tanks	Equipped with air closure device. • For solar, heating water applications 24 liter Max operating temperature +110 c° 3/4" threaded connector •Max pressure: 8 bar	NO.	4	50	200	AQUASYSTEM VR24
13	Aluminum radiators sections	500 mm central height 80 mm width 80 mm depth Thermal output 152 watt Max operating pressure 16 bar	NO.	40	12	480	RADIATORS(VOX
14	Aluminum radiators sections	800 mm central height 80 mm width 80 mm depth Thermal output 218 watt Max operating pressure 16 bar	NO.	40	12	480	RADIATORS(VOX
24	Standard bender 180	Standard bender 0- 180°, (3/8 " - 1/2 " - 5/8" - 3/4 ") nickel plated chrome vanadium	NO.	. 4	200	800	TOTAL sylv

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019</u> 2019/08 الى 19/08/2019



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEH	رقم المناقصة: IE-GSD/KFW/2019/55
	degree	Universal Tube Benders For accurate bending up to 180° of pipes made of soft copper, aluminum and precision steel			-		
28	Draining cleaning Machine for pipes	Pipe diameters fromø 20 to 150 mm Direct attachment : Ø 22 and 16 mm spirals adaptor magazine : Ø 8 mm and 10 mm working length : 65 m with Ø 22 mm S-spirals 55 m with Ø 16 mm S-spirals 10 m with Ø 8 and 10 mm S-spirals Rated power 1300 W at 230V, 50Hz Working speed 600 r/ min Includes: 6Pce Replacement Drain Pipe Cleaner Machine Cutting Bits (for 22mm Cable Coil and 16 mm), PLUMBING SEWER SEWAGE DRAIN PIPE CLEANER CABLE Ø 22 mm S-smk -spiral Ø 22 mm x4.5m longx5 pieces wire thickness 5mm, PLUMBING SEWER SEWAGE DRAIN PIPE CLEANER CABLE Ø 22 mm S-smk -spiral Ø 16 mm x2.3m longx10 pieces with wire thickness 3.5mm	NO.	4	1400	5600	DALI
36	Drill Bits set	Ø1mm – 13 mm High Speed Steel Steel case No-Spin Drilling For metal drilling	NO.	20	. 8	160	DALI
37	Humidity temperature data loggers Meter	Temperature: -10 ° C ~ 50 ° C Humidity: 20% RH ~ 99% RH Accuracy: Temperature: ± 1 ° C, Humidity: ± 3% RH LCD display Internal memory Thermocouple data logger	NO.	4	140	560	ZI-9530

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>ط</u>ّه/2019/08 الى 2019/08/19

براهيم شهاب/ورزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال

فؤاد ابو الرب/وزارة المالية والتخطيط ا

أحمد الاحمد مؤسسة المواصفات والمقاييس عضو

عضو (لا لج الاس



دولة فلسطين مديرية اللوازم العامة

MEHE-	GSD/k	(FW/2	010/	55.1.	411.41 .4
MICHE-	יועסטיי.	NE 77. Z	いょフル	صر	

						ME	رقم المناقصة: HE-GSD/KFW/2019/55
39	Tool Box (bag)	Tote tray inside to store smaller items size:W:600mm,H300mm,D300mm Two lid organizers for small parts storage & accessible without opening the tool box Built-in pad lock eye for small locks & keeps contents secure Soft, wide rubber coated handle allows for easy & comfortable grip Nickel metal-plated latches	NO.	60	15	900	DEOTA
41	Bench Yoke pipe Vise	1/8-inch to 4-inch Pipe Vise Yoke and base of strong special malleable iron Highest quality iron-grip tool steel jaws	NO.	14	29	406	MORSE ETAUGRIFF
42	Top Screw Bench Chain Vise	Crank handle is anchored to the base of the bench vise Rugged, cast-iron base features a handy pipe rest and bender Bench vise has a 1/8-inch to 4-inch (6 mm to 100 mm) pipe capacity	NO.	10	39	390	LOCAL MARKET (حسب الصورة المرفقة)
50	arc/ Co2 welding helmet	Shade Range: DIN 4, Variable 9-13Battery Life: 5000 hoursBattery Type: CR2032Material: PARecommended Industry: Heavy InfrastructureVisor Type: Auto-Darkening FilterWelding Features: Traditional HeadgearWelding Process: MMA, MIG, MAG/CO2, TIG and Plasma Welding. Arc Gouging & Plasma Cutting Cartridge Dimensions: 4.33" x 3.54" (LxW)The Turn Time: (Dark to Bright): Adjustable: 0.1s ~ 1.0sReaction Time: .00004 secondsBattery: Lithium Battery + Solar Cellslithium batteries capacity: 210mAHSensitivity (welding based on current size): adjustable: low/high	NO.	40	33	1320	2834
54	Copper pipes	Copper pipe length of 100 meters and diameter of 3/8 Withstands up to 836 PSI of maximum pressure Heat resistant up to 150 degrees	NO.	300	2.8	840	LOCAL MARKET (حسب الصورة المرفقة)
72	Bloom	plastic type	NO.	40	3	120	حسب الصورة المقدمة
80	cutter	Blade cutter size 18x 100mm Snap-off blade knife No. of Blades: 5 Extendable Blade With Flat Push Button Length: 169 mm Comfortable and Easy to Use	NO.	20	1.4	28	104002

رئيس لجنة العطّاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/</u>2019/08 الى <u>19/</u>80/2019

ابراهيم شهاب وترزة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان الم

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد مؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

		· · · · · · · · · · · · · · · · · · ·				ME	رقم المناقصة:HE-GSD/KFW/2019/55
81	electric tester	screw driver type Detects AC mains voltage via direct contact Voltage range 100 - 250Vac 3mm tip and fixed pocket clip Blister packed	NO.	40	1.2	48	941
82	gas welding tip	 Industrial Oxygen / Acetylene Gas welding and brazing tips Type 551 Kit Includes #8, #12, #20 Tips Fits standard 10mm gas mixer Industrial Quality for daily use Made from high quality copper for extended life ndustrial Oxygen / Acetylene Gas welding and brazing tips Made from high quality copper for extended life 	NO.	27	14	378	LOCAL MARKET (حسب الصورة المرفقة)
86	chipping hummer	Head Length (mm): 160 Total Mass (g): 500 Blade Width (mm): 24 wood handle for durability	NO.	27	5.6	151.2	384
89	vice blier	Small type	NO.	22	5.6	123.2	حسب الصورة المرفقة
102	OPP tape	Size: 48 mm * 80 m Colour in transparent Commonly used in household and industrial High quality	NO.	120	1.7	204	حسب الصورة المقدمة
112	steel pipe cutter	manual type 1/8" - 2"Adjustable Heavy-Duty Pipe Cutter• Allows for fast, clean pipe cutting by hand• Designed to tackle tough steel pipe• Helps you get the job done quickly and efficiently• Can conveniently be converted to 3-wheel cutter by replacing rollers with cutter wheel• Features an extra-long shank that protects adjustment threads• Extra-large handle allows for quick and easy adjustments• Pipe cutter has a 1/8 in. to 2 in. pipe capacity for various size piping• Ideal for fast, clean pipe cutting by hand• Helps get job done quickly and efficiently• Full lifetime warranty against material defects and workmanship	NO.	8	34	272	LOCAL MARKET (حسب الصورة المرفقة)

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>6 /</u>2019/08 الى 19/08/08

ابراهيم شهاب /وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد المؤسسة المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

	r *		т	т т		MAIC MAIC	رقم المناقصية: HE-GSD/KFW/2019/55
117	Electric extension	4 output sockets Voltage/Current : 230V~/16A Over load operation switch Length : 1.5 m Wire cross section : 1.5 mm2	NO.	30	8.4	252	LOCAL MARKET (حسب الصورة المرفقة)
		Schedule 40		½": 180	20	600	
		1/2", 3/4",		Meter	26	780	
122	Galvanized steel pipes	1"	NO.	%": 180 meter 1": 180 meter # 2 of Each	30	900	LOCAL MARKET (حسب الصورة المرفقة)
124	PEX pipes with sleeve	 16mm ,20mm,25mm Pressure ratings: 80psi @ 200F, 100psi @ 180F, 160psi @ 73F; PEX plumbing tubing is commonly used for: Plumbing applications (hot and cold water); Open loop radiant heating applications; residential and light commercial hot and cold water plumbing applications 	NO.	16 mm :400 meter 20 mm: 400 meter 25mm: 400 meter	1700	1700	LOCAL MARKET (حسب الصورة المرفقة)
	مضافة					25812.4	<u> </u>
				I.		• //	w/li

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>201</u>9/08/<u>19</u> 2019/08/ براهيم شهاب/وزكرة الاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد الاحمد /مؤسسة المواصفات والمقاييس

200



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

البنود المحالة على شركة حرب

		<u> </u>				سرح حرب	البتود المحالة على
	••		11	04	Unit price	Total Prices	اسم الموديل
NO	ltem	Specifications	Unit	Qty.	Euro	Euro	النح المودين
5	Light oil burner	 Two different brands used in local market ONE STAGE LIGHT OIL BURNER Output 30kw - 60 kW ~50Hz 230V approved by the EN 267 European Standard and conform to European Directives for EMC, Low Voltage, Machinery and Boiler Efficiency. One of them with Ignition transformer :Incorporated in the control box 8 kV 30 mA the burner have a R.B.L. geared pump with safety valve on the return circuit. with sound-proofing material inside the cover Electrical wirings are easily to plug and socket connections. The 7 pin plug is supplied for connection to the boiler. One of them With hydraulic jack Air damper With orffice 2, 3 kg/h With glycerin filled pressure gauge up to 20bar with all the fittings to measure oil pump pressure 	NO.	2	520	1040	RIELLO
10	Circulating pumps	230 v, 50 HZ DN 11/2" suctions dim,threaded flange connections 1 hp 5m head 3 speeds by manual selction Max liquid temperature +140 c°	NO.	4	250	1000	IMAS

رئيس لجنة اللطاءات المركزبة

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>6 ط</u> 2019/08 الى 2019/08/

ابراهيم شهاب وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد الاحمد مؤسسة العواصفات والمعاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHE-GSD/K	رقم المناقصة: FW/2019/55
16	Air conditioner	Power supply: single phase 240v Cooling Capacity 12000Btu/h Refrigerant R410a work Cooling and Heating Compressor Type ROTARY remote control 4way swing self-cleaning system Self-working after disconnecting power supply sleeping mode with led – display follow me system. Valves cover provided in the external unit	NO.	4	430	1720	TCL
18	Electric hot water boiler	230 v, 50 hz 2.5 KW heating element 60 litre water content 3/4" threaded conectors (cold & hot) 2.5 kw heating element Plated internal cylinder Isolated	NO.	2	130	260	local market حسب الصورة) (المرفقة
19	Water supply centrifugal pump for domestic	230 v, 50 hz 1 hp DN threaded manifolds: 1" 55 m manometric head 8 m3/h flow rate	NO.	4	180	720	GP
45	Aluminum Straight Pipe Wrench	 8", 10",12", 14", 18" I-beam handle with full floating forged hook jaw for superior gripping and quick adjustments Plumbing wrench has a non-stick adjustment nut, and self-cleaning threads with easily replaceable hook jaw, heel jaw, and spring assembly Straight pipe wrench is suitable for all types of pipe work 	NO.	20 Pcs For each size	250	5000	حسب الصورة المرفقة
51	Spark lighter	Stainless steel type Sparks - 20,000 Shots	NO.	5	10	50	حسب الصورة المرفقة

محد ربيع المركزية العرادية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019</u> الى 2019/08/

مراهيم شهاب وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال الع

فؤاد ابو الرب/وزارة المالية والتخطيط

حمد الاحمد /مؤسسة المواصفات والمقاييس

عضو (درائم (فرائم



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHE-GSD/K	رقم المناقصة:FW/2019/55
55	collectors - Brass Manifold Valve	3/4 inch size 4 Water Manifold With Valves 16 mm 3 Water Manifold With Valves 16 mm Include BALL VALVE, FULL FLOW FOR MANIFOLDS Include vent Male/female threads. T handle in aluminum Body in nickel-plated brass. Minimum and maximum working temperatures: -20°C, 150°C in absence of steam	NO.	8	15	120	حسب الصورة المرفقة
68	Electric hand disc cutting machine tool	 Rated input power: 720 W No-load speed: 11000 rpm Disc diameter: 125 mm Rubber backing pad, diameter: 125 mm Wire cup brush, diameter: 70 mm Weight: 1.9 Kg Rated Voltage: 220 V AC Frequency: 50/60 Hz 	NO.	24	45	1080	حسب الصورة المرفقة
76	Spare blade for cutter	Blade size 18x 100mm Length: 169 mm	NO.	450	0.2	90	حسب الصورة المرفقة
78	tweezers set	Set 4pc• Stainless steel tweezer set comprising 1 of each of the following113 mm long straight. 115 mm curved.115 mm spade.120 mm self closing.OR Similar specifications	NO.	6	7	42	حسب الصورة المقدمة
79	digital instant thermometer	 Fast Thermometer: Instant digital readout within 4-7 seconds, °F/°C switchable, Auto Shut-off and HOLD feature, large LCD display Wide Temperature Range of -58°F to 572°F(-50-300°C), Accurate to ±1°C 	NO.	40	30	1200	TP101
83	Co2 nozzle clean	• 500 ML • Heavy duty- effective even on the most severe high amperage weld spattering, unlike normal anti- spatter sprays. Fully non-flammable formulation with a non-flammable Co2 propellant for higher user safety as well as higher actual coverage (97% actives vs 65% max actives in hydrocarbon propelled aerosol sprays). Superior application and durability. No adverse affect on type of welding Keeps tips and nozzles clean. Prevents spatter build-up.	NO.	8	7 900 ~	56	حسب الصورة المرفقة <i>فالإي</i>
	Λ.				/ Z4/36/4		

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019/08 الى 19/08/08</u>

فؤاد ابو الرب وزارة المالية والتخطيط ابراهيم شهاب وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

أحمد الاحمد مؤلسه المواصفات والمقاييس



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

MEHE-GSD	/KFW	2019	المناقصة: 55
	,,,,,	2017	J

						MEDE-GODIL	رقم المناقصة: FW/2019/55)
90	Nipple	Normal type	NO.	28	1	28	حسب الصورة المرفقة
93	strong bond	Incredibly strong adhesive and sealant ideally suited for all types of plumbing repairs abrasion resistant - great for bonding items subject to vibration Temperature resistant - remains flexible, even in extreme temperatures Waterproof - can be submerged in fresh and salt water after complete cure Dries clear Indoor/outdoor use 500 ML	NO.	4	7	28	حسب الصورة المرفقة
95	LM clamp	S.Steel	NO.	35	30	1050	حسب الصورة المرفقة
96	wire brush	Rugged 10 in. natural hardwood shoe handle Tempered carbon steel bristles 4 by 16 wire bristle configuration Removes rust, paint and dirt to pre-pair rough surfaces for paint and other finishes.	NO.	27	1	27	حسب الصورة المرفقة
97	sand paper	aluminum oxide abrasive sanding sheets are designed for machine sanding or hand sanding to achieve fast stock removal and finishing on wood, hardwood and metal work pieces. The sanding sheets feature a heavy duty backing and resin-over-glue bond for added durability. Wood, metal, drywall, fiberglass, polyurethane, lacquer, varnish and painted surfaces Resin-coated, aluminum oxide paper resists tearing, heat and humidity Sanding between coats Resin-over-glue bond Open coat 9 in. x 11 in	NO.	210	0.7	147	حسب الصورة المرفقة

تعرض نتيجة الإحالة لمدة خمس أيام عمل م<u>ن 6 م/2019/08 الى 19/08/2019</u>

فؤاد ابو الرب/وزارة المالية والتخطيط ابراهيم شهاب/وزارقاالاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

صفحة 28 من 34



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

					.,,	MEHE-GSD/K	رقم المناقصة: <u>W/2019/55</u>
99	saw blade	Fully hardened and expertly hand-tensioned steel saw plates for true cuts Carbide tooth design for quality cuts and longer life inch inch inch inch inch inch inch	NO.	25	5	125	حسب الصورة المرفقة
101	textile tape	 deal for molton repair Waterproof to moisture Adhesive force on steel: 29 N / 25 mm Width: 50 mm Roll length: 50 m Color: Black 	NO.	60	2	120	حسب الصورة المرفقة
113	Adjustable wrench	 Size 12 Inch Slip-resistant bi-material handle for a comfortable grip Knurl adjusting mechanism for quick and precise adjustment Laser-etched SAE and mm jaw scale for easy size adjustment Slip-resistant bi-material handle for a comfortable grip" 	NO.	18	6	108	ANTON
123	black steel pipes	Schedule 40 ½", ¾", 1" 11/4" 11/2"	NO.	%": 60 meter %": 60 meter 1": 60 meter 11/4": 120 meter 11/2":120 meter	2700	2700	حسب الصورة المرفقة
	اجمالي الاحالة على شركة حرب باليورو غير شامل ضريبة القيمة المضافة						

عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

لجنة العطاءات المركزبة

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/ الى 2019/08/ من 6ء

ابراهيم شهاب/وزارق الاقتصاد

فؤاد ابو الرب/وزابق المالية والتخطيط



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

رقم المناقصة: MEHE-GSD/KFW/2019/55

البنود المحالة على شركة السهم

						1 1	اببود المحالة في شر
NO	ltem	Specifications	Linit	Qty.	Unit price	Total Prices	اسم الموديل
NO		Specifications	Unit	Qty.	Euro	Euro	،سم ،سودین
1	Heating Cast iron boiler	 A floor-standing gas or oil boiler with cast iron heat exchanger with smoke passes, working with oil or gas free-standing blown air burners with insulation Heat output: 35-40KW Efficiency at nominal load: 90% Working pressure: 4 bar Working temperature range 50 - 80°C with Heating temperature control With Safety thermostat Voltage/frequency230V /50Hz The boiler is equipped with connection cable and plugs to the burner. Flue Ø 150mm control panel: Designed for electrical connection to a heating pump and to a low water pressure switch. Main switch with light Lights indicating the heating pump, burner, and overheating shutdown Wiring system with printed circuit with Thermometer with Drain cock The boilers comply with the basic requirements of the following EEC fitted with all the safety features required by the applicable laws. 	NO.	2	1085	2170	ZAIG IHELL AM 350

يس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من<u>كة/2019/08 الى 2019/08/</u> ابراهيم شهاب/وزارة الاقتصاد عبد

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد /مؤسسة المواصفات والمقاييس

عضو آريم.



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

		·				MEHE-G	رقم المناقصة: SD/KFW/2019/55
2	Gas boiler for heating and hot water	 Wall – hung traditional boiler (Gas boiler for heating and hot water), capacity of 28 kw with flue kit Concentric horizontal complete kit Ø 80/125 includes (Insulated 90° bend Ø 80 kit+ Flue outlet wind-stop grate Ø 80 +1 extension pipe Ø 80/125 1 m long) Sealed chamber fan assisted model. New modern design. for indoor and outdoor installation in partially protected areas. Adjustable system by-pass. Electronic control board microprocessor driven. Electronic ignition and modulation Optimum seasonal performances thermo regulating With Mini CRD (Mini Digital Remote Control), Mini weekly thermostat and modulating remote control. Standard frost protection up to -5 °C.Mod 	NO.	4	940	3760	IMMERGAS MINE 28
7	Solar panel	Solar panel 2 m ² area, schedule pipes 40,Ø 1", isolated with polyurethane foam, Greased black paint endothermic, has Quality control certificate.	NO.	8	120	960	LOCAL MARKET (حسب (الصور المرفقة
8	Non-Pressurized Solar Water Heater Evacuated Tube System with Assistant Tank	Low Pressure Solar Water Heaters, with Assistant Tank, Details: 1. Tank capacity 180 liter. 2. Outer tank material: Stainless steel. 3. Insulation layer: High density polyurethane foaming. 4. Evacuated Tube Qty: 18 (58mmx1800mm) + three evacuated tubes as spare part 5. Bracket: Stainless steel. 6. Auxiliary tank capacity 20L. 7. Low temperature resistance: Over-25° C. 8. with electric heater: 1.5-3kw.	NO.	2	695	1390	LOCAL MARKET (حسب (الصور المرفقة
9	Double Jacket water tank	Double Jacket water tank, 200 liter,. Immersion heater 2.5 KW, working pressure up to 6bar.	NO.	4	450 ()_///	1800	LOCAL MARKET (حسب (الصور المرفقة

رئيس لجنة العطاءات المركزية

صفحة 31 من 34

تعرض نتيجة الإحالة لمدة خمس أيام عمل من2019/08/19 الي2019/08/19

ابراهيم شهاب وزارة الاقتصاد عبد الرؤوف عساف / وزارة الاشغال العامة والإسكان

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد موسسة اسواصفات والمقاييس عضو



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHE-GSI	رقم المناقصة: D/KFW/2019/55
23	Diamond core drill	Diamond and core drill, drilling range in concrete Max Ø 132 mm, and Ø 162 mm in brick work, 500 – 1050 rpm Drilling range from Ø 10 mm to Ø 162 m min concrete Drilling range in masonryØ32- Ø 200 mm in concrete Distance to wall 400 mm Stationary Watt output 1800 w Special features Key Features Low vibration drilling with the 4 x roll guides Stainless-steel handle can be exchanged without tools Exchangeable rack and guide rail Stable threaded connection between column and base plate Transport handle Lockable feed unit Universal feed unit, also with RODIACUT 170, 270 and 400 Pro Ø 60 mm clamping neck adaptor With core drill bits Ø 3" and 45 cm length Ø 5" and 45 cm length	NO.	2	1380	2760	ATLAS DK LOCAL MARKET

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019</u> الى 2019/08/19 ابراهيم شهاب/وزارة الاقتصاد

فؤاد ابو الرب/وزارة المالية والتخطيط

أحمد الاحمد المولسية المواصفات والمقاييس

عضو الرام



دولة فلسطين مديرية اللوازم العامة

						MEHE-G	قِم المناقصة: SD/KFW/2019/55
46	Digital multi meter	Measurement functions: N.C.V AC/DC voltage · V.F.C AC/DC current · Current Clamp Test Lead- (60A) Capacitance · TRUE RMS Resistance · Data hold Frequency · Auto power-off Temperature · Auto/Manual Ranging Diode test · Relative Mode Continuity test · Max/Min Mode Duty Cycle · LCD Backlight DC Voltage (V) 60mV/600mV/60V/600V ±(0.5%+2) AC Voltage (V) 60mV/600mV/6V/60V/600V ±(0.8%+3) DC Current (A) 600µA/6000µA/60mA/600mA/6A/10A ± (0.7%+2) AC Current (A) 600µA/6000µA/60mA/600mA/6A/10A ±(1%+3) Resistance (Ω) 600Ω/6kΩ/60kΩ/600kΩ/6MΩ/60MΩ ±(0.8%+2) Capacitance (F) 9.999nF/99.999nF/999.9nF/9.999µF/99.99µF/ ±(4.0%+5) 999.9µF/9.999mF/99.99mF Frequency (Hz) 10Hz-10MHz ±(0.1%+4) Temperature (°C) -40 °C~1000°C ±(1.0%+3) Temperature (°C) -40 °C~1000°C ±(1.5%+5) Power AA1.5 X 2 LCD Size 58mm × 36 mm Product Size 175mm × 81mm × 48.5 mm Standard Accessories Battery, Test Leads, Temperature Probe	NO.	15	55	825	UT 139C
53	LPG Gas tank	Horizontal type Gas tank capacity of 0.5 ton, pressure 20 bar at least Dimensions: L, H, Dia (2.20 * 1.80 * 1.10) m LPG tanks are equipped with the following fixtures: • filling valve, • intake valve of the gas phase, • pressure gauge, • maximum overflow valve, • intake valve of the liquid phase, • level sensor, • safety relief valve(s).	NO.	1	1100	1100	LOCAL سبب) MARKET (الصور المرفقة فالاك

تعرض نتيجة الإحالة لمدة خمس أيام عمل من <u>60/2019 الى 19/8/90</u>9 من



دولة فلسطين وزارة المالية والتخطيط مديرية اللوازم العامة

						MEHE-G	رقم المناقصة: D/KFW/2019/55
119	Thermo- anemometer	Measure air velocity in 5 different units: ft/min, m/sec, km/h, MPH and knots Simultaneous display of Ambient Temperature and Air Flow or Air Velocity Up to 8 easy to set Area dimensions (ft² or cm²) are stored in the meter's internal memory 20 point average function for Air Flow Super large LCD Backlit Display 3% velocity accuracy via low friction 72mm ball bearing vane wheel on 3.9ft (120cm) cable Data Hold and MIN/MAX Auto Power off	NO.	3	245	735	CEM DT-619
120	Refrigerant leak detector	 He compact, easy-to-use, RLD2 HVAC leak detector, uncovers refrigerant leaks instantly. With 100,000 hours of life, this handy refrigerant leak detection tool is a must have for HVAC Technicians. ivid UV refrigerant leak detector UV LED (375 nm wavelength) detects leak detection dyes * Laser pointer pinpoints leaks * Bright flashlight for working in dark areas * Key chain for convenience * Operating temperature 0 C to 50 C * Includes 3AAA batteries 	NO.	3	145	435	Fluke RLD2 HVAC/R
	لمضافة	اجمالي الاحالة على شركة السهم باليورو غير شامل ضريبة القيمة ا				15935	

115057.6	اجمالي احالة المناقصة باليورو غير شامل ضريبة القيمة المضافة

- تم احالة البند رقم(51) مناصفة بين شركة حرب وشركة تكنوبال.
 - الغاء البنود (3,15,27,52,60,62) بسبب ارتفاع الاسعار.
 - الغاء البنود (48,65) العروض المقدمة غير مطابقة.
- الغاء البنود (12,20,47) بعض العروض غير مطابقة والمطابقة مرتفعة الاسعار.

رئيس لجنة العطاءات المركزية

تعرض نتيجة الإحالة لمدة خمس أيام عمل من 2019/08/<u>ا</u>2019/08/

عضو

فؤاد ابو الرب/وزارة المالية والتخطيط

دمد الاحمد /مؤسسة المواصفات والمقاييس

صفحة 34 من 34